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Distinguished guests,
Wakayama Prefecture Tourism Survey

Thank you very much for your stay in Wakayama Prefecture.

Through this survey we hope to make a better plan for attracting tourists. So we
sincerely ask for your ideas and the information will be used for future reference.
We hope you will take a few moments to assit us by completing this survey. We
really appreciate your help.

Sept. 2014 Wakayama Prefecture

B Nature of the Survey
The survey is anonymoous, not aimed at any individual.

Please write down your real thoughts.

H Collection of the Survey

Please fill in the survey and give it to the front desk before you leave or put it into the
reclamation box.

B Inquiry Office
For inquiries regarding the survey, please contact:

Plan of the survey:
Tourism Promotion Division; Tourism Bureau; Commerce, Industry, Tourism, and Labour
Department; Wakayama Prefectural Government.
Contact: Higashi, Nakamura. Phone: 073-441-2777

Conduction of the survey:

Sogo Chosa Sekkei Co., Ltd.
Contact: Nakanishi. Phone:06-6372-0567

H Notice
Please fill in the survey by ball pens or pencils and circle the corresponding serial number.

(Some questions may require number/ written answers. )
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Wakayama Prefecture Tourism Survey for the 2014 Fiscal Year

HBWe would like to ask you about your visit to Wakayama prefecture.

Q1. How many nights do you spend in Wakayama prefecture? How many lodging facilities do you use?
What kind of accommodation do you use? (multiple choices)

—

Spend nights in Japan Spend nights in Wakayama Prefecture

Number of lodging facilities inside the prefecture (number)

= =

<Lodging facilities in Wakayama Prefecture>
3. Hotel

1. Parents', acquaintance's or relative's home
5. Recreation facility, training institute

2. Japanese-style inn
6. Campsite

4. Pension, tourist home
7. Car (not at a campsite) or transportation facility

8. Villa‘resort condominium

9. Member only accommodation

10. Others (

)

Q2. What is the purpose of your visit to Wakayama Prefecture this time? (Please circle only one that applies)

1. Business 2. Sightseeing

3. Visiting relatives, friends

4. Others (

)

Q3. Who did you come with? (Please circle only one that applies)
Also, how many people in your party, including yourself?

1. Alone

2. Lover

3. Spouse

4. Family

5. Holiday organized by school, company

6. Acquaintance(s), friend(s)

7. Interest group, association

8. Others (

)

people /
person

Q4. How do you travel this time? (Please circle only one that applies)

1. Travel independently (Arranged for airplane ticket and accommodation personally.)

2. Join a tour group (Arranged for airplane ticket and accommodation by the tour group)

3. Join a group (Arranged for airplane ticket and accommodation by school-working place,etc)
4. Others ( )

Q5. When you planned this trip, what kind of sources did you collect the information from?
(Please circle all that apply)

1. I already knew about the place before

) [Please write down the name of the magazines, etc. ]
5. TV, radio 6. Introduction by travel agency
9. Smartpone/mobile phone webpages

2. Magazines, guidebooks (

3. Tourism posters, brochures 4. Newspaper, advertisements
7. Association webpages 8. Other webpages
10. Words of mouth, recommendation by acquaintances 11. Tourism inquiry office

12. Posters, advertisements in bus or trolly bus stations 13. None 14. Others ( )

Q6. Please choose one major tourist attraction of your travel from the map on the reverse side.

Number ( ) |

Q7. Do you know how many times your fellow traveller(s) has/have been to the major tourist attraction
(the one you chose in Q6)?

—

) person/people,
) person/people

the second time (
the fourth time or more (

the first time (
the third time (

) person/people ,
) person/people

1. Don't know 2. Know

Q8. Do you know how many times your fellow traveller(s) has/have been to Wakayama prefecture?

—

) person/people,
) person/people

the second time (
the fourth time or more (

) person/people ,
) person/people

1. Don't know 2. Know the first time (

the third time (

Q9. Please write down the tourist attractions and major kinds of transportation of your travel and the following
tourist attractions you're going to visit. (Please choose the corresponding number of tourist attractions from the
map on the reverse side and the major kinds of transportation from the chart below)

| Places (Tourist attractions) visited brfore arrival | | Current Site | | (Tourist attractions) you're going to visit next |
Residence » » » » Accommodation |» » » » Residence
/\\ /t\\ //\\ //\\ /,\\ //\\ //\\ /1\\
I . - r_‘___: p--o -‘_‘__.: g2 -‘_‘___: g2 -:‘___: g2 -:‘___: g2 r_‘___: p--o r_‘___: g2 -:‘___:
ion ! 1 i [ [ i i i i

Lo B i N P B N » E

1. JR shinkansen 2. JR Train 3. Private train-subway 4. Chartered automobile, tour bus 5. Coach 6. Bus

7. Trolly bus 8. Taxi, etc 9. Rented vehicle 10. Private, working place, official vehicle 11. Motorcycle

12. Bicycle 13. On foot 14. Airplane 15. Others ( )

2% - 18




Please write down the prefecture(s) you have visited before Wakayama prefecture, and the prefecture(s) you're
going to visit next.

| If you have visited, please write down |

| Prefecture(s) visited before | | Current Site | | Prefecture(s) going to visit |
Residence » * » » Wakayama » » » » Residence
IS 2. AN 4 n 2. . Sn

1 1
| Transportation i | i
1

F===="

[p—— -
1
1
1
1
[

T
1
i
—————]

* Please choose the major kinds of transportation from the chart above.

HWe would like to ask you about traveling expenses for this trip.
Q10. Please tell us your traveling expenses for this trip (Including the amount which you are planning to use)

Please write down your own traveling expenses according to the following different kinds.

* Transportation expense includes highway fees, petrol, and parking, please write down the expenses in and outside
Wakayama respectively.

* If you joined a group, please choose the expenses in Wakayama only or including the expenses outside Wakayama.

[1<If the expenses in the form is for the whole group, please tick inside the left box.
Expenses (Including the following budget) Expenses (Including thefollowing budget)
1) Transportation (In Wakayama) yen (Outside Wakayama) yen
2) Accommodation (In Wakayama) yen
3) Shopping (In Wakayama) yen
4) Food and drink (In Wakayama) yen
5) Admission fee (In Wakayama) yen
6) Others (In Wakayama) yen
7) Total (In Wakayama) yen
yen
8) Tour group expense T CJExpenses in Wakayama only
or [Including the expenses outside Wakayama

HDrgree of satisfaction-evaluation of major tourist attractions. If you haven't been there yet,
please write down what you have visited before (in Wakayama prefecture).
Number of tourist attractions, please choose one from the map on the reverse side( ).

Q11. Degree of satisfaction in each category below for the tourist attractions
(Please circle only one that applies for each category).

If you haven't visited any tourist attractions in Wakayama, please answer starting from Q15 (No answers required for Q11~Q14).

Number of tourist attractions ( ) sa?i/;‘;/}ilng Satisfying | Ordinary dissAa 'tiitsﬂf;ng Dissatisfying appll\:(c;)etlble
a) Convenient transportation to tourist attractions 5 4 3 2 1 0
b) Convenient trains 5 4 3 2 1 0
c¢) Convenient buses 5 4 3 2 1 0
d) Convenient transportation inside Wakayama prefecture 5 4 3 2 1 0
¢) Responses of taxi drivers 5 4 3 2 1 0
f) Tourism information, signs 5 4 3 2 1 0
g) Toilets 5 4 3 2 1 0
h) Business hours, opening hours 5 4 3 2 1 0
i) Admission fees or participation fees 5 4 3 2 1 0
j) Folk festivals, activities 5 4 3 2 1 0
k) Entertaining guests, reception 5 4 3 2 1 0
1) Food and drink 5 4 3 2 1 0
m) Specialities 5 4 3 2 1 0
n) Vigorous, prosperous 5 4 3 2 1 0
0) Quiet, tranquil 5 4 3 2 1 0
p) Scenery or customs 5 4 3 2 1 0
q) Hospitality 5 4 3 2 1 0
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Q12. How do you rate the tourist sites you visited this time collectively? (Please circle only one that applies)
4. A little dissatisfying 5. Dissatisfying

| 1. Very satisfying 2. Satisfying 3. Ordinary
Q13. How do you feel if you compare your expectation before you came to the tourist attraction with after you

visited (which you answered in Q12)? (Please circle only one that applies)
2. Better than I expected 3. Same with the expectation

4. Worse than I expected

1. Much better than I expected

5. Much worse than I expected
Q14. Do you wish to come again to the tourist attractions you visited this time?

(Please circle only one that applies)
| 1. Absolutely 2.1 can come 3. Not sure 4. Rather not

5. Not at all

HWe would like to ask you about your impression of Wakayama prefecture.
Q15. Please tell us the charms of the tourist attractions in Wakayama prefecture. (Please circle all that apply)

3. Touched by places of cultural and historical interest
6. Fine accommodation facilities

9. Clean and tidy tourist attractions

2. Plenty of natural sceneries
5. Charming speciality products

8. Travel around tourist attractions nereby
11. Convenience for the disabled

13. Hospitable local people

1. Tasty foods
4. Good atmosphere in the streets
7. Convenient transportation

10. Clear and understandable transportation and road signs

12. Informative tourism brochures- inquiry office
14. Overall tourism charms of Wakayama prefecture 15. Others ( )
Q16. We would like to ask you about your future visit to tourist attractions or leisure projects.
(Please circle all that apply)
2. Pray in temples 3. Sea bath

1. Visit places of cultural and historical interest, walk leisurely on ancient tracks

4. Hot spring 5. Taste delicious foods 6. Shopping 7. Clam digging
9. Visit leisure facilities ~ 10. Art galleries, museums  11. Forest bath  12. Various activities, folk festivals
14. Fishing 15. Mountain climbing, mountain roaming

17. Diving 18. Make pottery, woodcraft, handicraft
20. Cook local dishes 21. Experience agriculture, forestry, fishery (fishing by net, etc)

22. Experience rural, fishing village life, etc (transplant rice seedlings, etc) 23. Others(

8. Visit The World Heritage

19. Make dried flowers, plant printing and dyeing, etc

13. Camping

16. Observe natural sceneries (red leaves, flowers or grass, etc)

HWe would like to ask you about yourself.
F1. Sex (Please circle only one that applies)

| 1. Male 2. Female

F2. Age (Please circle only one that applies)

5.40s 6. 50s 7. 60s 8. 70s 9. 80s or over

| 1. Under 10 2.10s 3. 20s 4.30s

F3. Where are you from? (Please circle only one that applies)

8. Australia

1. Taiwan 2. Hongkong 3. Korea 4. China 5. France 6. America 7. Germany
)

9. Others (Country/Region :

This is the end of the questionnaire.
Thank you very much for your cooperation.

After you have filled out this questionnaire,
please give it to the front desk or put it into the reclamation box.
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505% 1t 6.3%| 0.0%| 0.0%| 0.0% 0.0%[31.3%| 6.3% 0.0% 0.0%| 0.0%] 0.0% 0.0%
605% 1t 9.4% 0.0%] 0.0%| 3.1%| 0.0% 6.3%] 0.0%| 3.1% 0.0%| 0.0%] 0.0% 3.1%
10m 1t 0.0%| 0.0%| 0.0% 0.0%| 0.0%(20.0% 0.0% 0.0% 0.0% 0.0%] 0.0% 0.0%
80k&% LLE 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
21K 5.1%| 0.0%| 0.0%| 1.3%| 0.4%[17.3%| 9.3%| 0.8%| 0.8%| 0.0%| 1.3%] 0.8%
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(A Hh A3 $A3F])
[E&%%]) [ 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
10/ K i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20i% 1% 6 0 3 0 2 0 0 1 7 0 0 0 4 of 23] 16
30 L 9 2 13 1 0 0 1 7 6 4 3 1 4 o] 51 29
401 18 of 11 4 4 1 3 5 3 3 1 0 4 o] 57| 35
505% 1t 19 1 17 3 3 4 1 5 3 3 1 0 2 of 62 40
605% 1t 17 0 7 0 0 6 1 1 0 5 4 0 1 of 42| 30
70% 4% 2 0 0 0 0 1 0 0 0 0 0 0 0 0 3 3
80k LALE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21K 71 3] 51 8 9] 12 6] 19] 19| 15 9 1 15 o] 238] 153
€S| 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
1085k | 0.0%] 0.0% 0.0% 00% 0.0% 0.0% 00% 00% 00% 0.0% 0.0% 00% 00% 0.0%
101t 0.0%| 0.0%| 0.0%| 0.0%| 0.0%] 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
20i% 1% 0.0%| 18.8%| 0.0%|12.5%| 0.0%| 0.0% 6.3% 0.0%| 0.0%] 0.0%|25.0% 0.0%
30i% 1% 6.9% 3.4% 0.0%] 0.0%| 3.4%|24.1%[20.7%|13.8%|10.3%| 3.4%|13.8%| 0.0%
405% 1K 0.0%|31.4%| 11.4%| 11.4% 2.9% 8.6%|14.3%| 8.6%| 8.6% 2.9%| 0.0%|11.4% 0.0%
505% 1t 2.5%(42.5%| 7.5%| 7.5%|10.0%| 2.5%12.5%| 7.5%] 7.5% 2.5%| 0.0%| 5.0%] 0.0%
605% 1t 0.0%]23.3%| 0.0%| 0.0%[20.0%| 3.3%| 3.3%| 0.0%|16.7%[13.3%| 0.0%| 3.3%| 0.0%
705% 1% Wil 0.0%| 0.0% 0.0% 0.0%[33.3% 0.0% 0.0% 00% 0.0% 0.0% 00% 0.0% 0.0%
80i% LLE 0.0% 0.0%] 0.0% 0.0% 0.0%] 0.0% 0.0% 0.0% 0.0% 0.0% 00% 0.0% 0.0%
21K 2.0%|33.3%| 5.2%| 5.9%| 7.8%| 3.9%|12.4%|12.4%] 9.8%| 5.9%| 0.7%| 9.8%| 0.0%
[FAigihm4 . SHFU(ERIZES, BOlR)]
[E&%%]) [ 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
10/% K i 0 0 0 0 0 0 0 0 1 0 0 0 3 0 4 4
101t 2 6 1 1 0 0 1 4 8 4 2 1 0 1| 31 11
20i% 1% 2| 12 8 0 0 0 5] 11| 19 7 5 0 1 1l 71| 27
30i% 1% 9] 13 6 1 3 0 71 13| 20 7 9 3 0 3] 94| 31
401 13 3 4 0 1 1 2 6 6 1 3 1 2 1| 44 25
505% 1t 17 9 9 0 2 3 ol 17| 12 11 9 3 3 1| 105 50
605% 1t 18 7 7 1 4 4 0 4 4 12 7 2 2 of 72| 38
70% 4% 5 3 2 0 0 3 1 1 1 2 2 1 1 of 22| 12
80 LA E 2 1 0 0 0 0 0 1 1 1 1 1 3 o] 11 7
21K 68| 54| 37 3 10l 11| 25] 571 72| 45| 38| 12| 15 7l 454 205
ES| 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
1085k | 0.0%] 0.0% 0.0% 00% 0.0% 0.0% 00% 0.0% 25.0% 0.0% 0.0% 0.0% 0.0%
101t 18.2%(54.5%| 9.1%] 9.1%| 0.0% 0.0%| 9.1%|36.4% 36.4%[18.2%| 9.1%| 0.0% 9.1%
2055 1% 7.4%|44.4%[29.6%| 0.0%| 0.0%| 0.0%|18.5%(40.7% 25.9%[18.5%| 0.0%| 3.7%| 3.7%
3081t [29.0%[41.9%]19.4%] 3.2%| 9.7%| 0.0%]22.6%|41.9% 22.6%[29.0%| 9.7%| 0.0% 9.7%
4055 1% 12.0%[16.0%] 0.0%| 4.0%| 4.0% 8.0% 24.0% 4.0%12.0% 4.0%] 8.0% 4.0%
505% 1t 18.0%| 18.0%| 0.0%| 4.0%| 6.0%18.0% 24.0%[22.0%(18.0%| 6.0%] 6.0% 2.0%
605% 1t 18.4%| 18.4%| 2.6%|10.5%|10.5%| 0.0%]10.5%| 10.5%|31.6%|18.4%| 5.3%| 5.3%| 0.0%
70EE1t  [ANED 25.0%) 16.7% 0.0%] 0.0%|25.0% 8.3%| 8.3%| 8.3%|16.7%|16.7%| 8.3%| 8.3%| 0.0%
80EE Lk [28.6%|14.3%] 0.0%] 0.0% 0.0% 0.0% 0.0%]14.3%]14.3%| 14.3%| 14.3% 14.3% 0.0%
2 33.0% 26.3%| 18.0%| 1.5% 4.9%| 5.4%| 12.2%| 27.8% ERREY 22.0%| 18.5% 5.9%| 7.3%[ 3.4%
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[FAZEH#hm5: NAK] X(E)RyE ZBMME, (RO REMt. (R)ABLGL
[E&%]) [ 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
10/ K i 0 0 0 0 0 0 1 0 0 0 0 0 0 0 1 1
101t 3 1 0 0 0 0 2 2 0 0 0 0 0 0 8 6
20i% 1% 10 2 0 0 2 0 3 2 7 3 0 0 1 3] 33 23
30i% 1% 10 0 0 0 2 0 2 0 1 0 0 0 0 of 15 13
40 1% 10 1 0 2 0 0 0 2 2 2 0 0 1 o] 20 17
50i% 1% 12 0 2 1 0 0 0 1 0 2 0 0 1 1 20 17
605% 1t 5 1 0 0 0 0 0 0 0 0 0 0 0 0 6 5
70% 4% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80K LLE 2 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2
21K 52 5 2 3 4 0 8 71 10 7 0 0 3 4] 105 84
[21&] 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
1085k | 0.0%] 0.0% 0.0% 0.0% 0.0% 0.0%REE 0.0% 0.0% 0.0% 0.0% 00% 0.0% 0.0%
101t 16.7%| 0.0%] 0.0% 0.0%| 0.0%[33.3%|33.3% 0.0%| 0.0%| 0.0%] 0.0% 0.0% 0.0%
20i% 1% 8.7%| 0.0%] 0.0%| 8.7% 0.0%|13.0% 8.7%|30.4%| 13.0%| 0.0% 0.0%| 4.3%|13.0%
30k 1t 0.0% 0.0%] 0.0%|15.4% 0.0%[15.4%] 0.0% 7.7%| 0.0%| 0.0%] 0.0% 0.0% 0.0%
405% 1K 5.9% 0.0%]11.8%] 0.0% 0.0% 0.0%[11.8%]|11.8%|11.8% 0.0%| 0.0%] 5.9% 0.0%
50i% 1% 0.0%|11.8%] 5.9% 0.0% 0.0%] 0.0% 59% 0.0%[11.8% 0.0% 0.0% 59% 5.9%
6051t A4 20.0% 0.0% 0.0% 0.0% 00% 0.0% 00% 0.0% 00% 00% 00% 0.0% 0.0%
70% 4% 0.0% 0.0%] 0.0% 0.0% 0.0% 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
80i% LLE 0.0% 0.0%] 0.0% 0.0% 0.0%[ 0.0%] 0.0% 0.0% 0.0% 0.0%] 0.0%] 0.0% 0.0%
2K 6.0% 2.4%| 3.6%] 4.8% 0.0% 9.5% 8.3%|11.9%] 8.3% 0.0%| 0.0%] 3.6%| 4.8%
[GRAxhme .- £ AEE] X (Z)FAELZL
[E&%]) [ 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
10 K 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20 1% 3 1 1 0 0 0 0 1 0 2 0 0 4 of 12 11
30k 1t 3 0 0 0 1 0 of 12 0 7 0 0 7 of 30 22
401X 9 1 0 0 0 1 0 4 0 2 0 0 7 1 25 19
50% K 5 0 1 0 0 0 0 3 0 3 0 0 6 of 18 13
605% 1t 10 1 0 0 0 1 1 0 0 2 1 0 4 o] 20| 18
70% 4% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
807k LAk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2K 30 3 2 0 1 2 1 20 of 16 1 of 28 1] 105] 83
[21&] 1 2 3 4 5 6 7 8 9 | 10| 11 [ 12] 13] 14
105K | 0.0%] 0.0% 0.0% 00% 0.0% 0.0% 00% 00% 00% 0.0% 0.0% 00% 00% 0.0%
101t 0.0% 0.0%] 0.0% 0.0% 0.0%] 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
20i% 1% 9.1%| 9.1%| 0.0%| 0.0% 0.0% 0.0% 9.1%| 0.0%18.2% 0.0% 0.0% 0.0%
30k 1t 0.0%| 0.0%] 0.0% 4.5% 0.0% 0.0% 0.0%|31.8%| 0.0% 0.0%[31.8%| 0.0%
405% 1% 5.3%| 0.0% 0.0% 0.0% 5.3% 0.0%[21.1% 0.0%10.5% 0.0% 0.0%36.8%| 5.3%
50% K 0.0% 7.7%| 0.0% 0.0% 0.0%] 0.0%]23.1% 0.0%[23.1% 0.0% 0.0% 0.0%
6051t 5.6% 0.0% 0.0% 0.0% 56% 5.6% 0.0% 00%11.1% 5.6% 0.0%/22.2% 0.0%
70% 4% 0.0% 0.0%] 0.0% 0.0% 0.0%] 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
80k LLE | 0.0% 0.0%] 0.0% 0.0% 0.0% 0.0% 0.0% 00% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
2K 3.6%| 2.4% 0.0%| 1.2%] 2.4%| 1.2%[24.1%| 0.0%]19.3%| 1.2%| 0.0%[33.7%| 1.2%
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[GAEhm 7 : HoFEHATRE]
[EZ%] [ 1 2 3 4 5 6 7 8 9 1011 ]12] 13] 14
103% K i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
20/ % 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
30 L 5 0 0 0 0 1 0 0 0 2 0 0 1 0 9 7
401 6 1 0 0 0 3 2 3 3 1 0 0 3 1 23] 16
507% 1% 15 1 0 0 0 0 1 0 0 3 0 0 7 o] 27| 25
60X 22 1 0 0 1 1 0 3 1 5 0 0 5 of 39| 37
705% 1% 18 0 0 0 0 0 0 0 0 1 0 0 9 of 28] 28
80i% LLE 4 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4
EXES 72 3 0 0 1 5 3 6 4 12 0 of 25 1] 132] 119
[21&] 1 2 3 4 5 6 7 8 9 1011 ] 12] 13] 14
10mk:# | 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
10me4t  EOOE 0.0%| 0.0%| 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%| 0.0% 0.0%
205t ROOA 0.0%| 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%f 0.0% 0.0% 0.0%
30t AW 0.0% 0.0% 0.0% 0.0%|14.3%| 0.0% 0.0% 0.0%28.6%| 0.0% 0.0%|14.3%| 0.0%
4051t KRR 6.3%| 0.0%| 0.0% 0.0%]18.8%|12.5%(18.8%|18.8%| 6.3%| 0.0%| 0.0%|18.8%| 6.3%
507% 1% GO 4.0%| 0.0% 0.0% 0.0% 0.0% 4.0% 0.0% 0.0%|12.0%[ 0.0% 0.0%|28.0% 0.0%
601t  [ERNA 2.7%| 0.0%| 0.0% 2.7%| 2.7%| 0.0%| 8.1%| 2.7%|13.5%| 0.0%| 0.0%|13.5%| 0.0%
705% 1% YR 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 3.6% 0.0% 0.0%32.1% 0.0%
80rg L. E RO 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%f 0.0% 0.0% 0.0%
EXES O 2.5%| 0.0% 0.0%] 0.8% 4.2% 2.5% 5.0%| 3.4%10.1%| 0.0% 0.0%|21.0%| 0.8%
[RS8 ZhEfz)
[E2%] [ 1 2 3 4 5 6 7 8 9 1011 ]12] 13] 14
103% K i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101 0 0 1 0 0 0 0 0 0 2 0 0 0 0 3 2
20/ % 1 0 0 0 0 0 0 0 0 1 0 1 0 0 3 3
30 L 8 1 1 0 1 0 0 1 0 1 0 0 1 2 16 12
40 17 0 2 0 0 0 0 1 0 1 0 1 1 5| 28] 24
507% 1% 23 1 2 0 2 0 0 0 0 2 1 1 0 1 33| 28
60X 37 0 4 1 2 1 0 1 0 4 0 0 0 1 51 43
705% 1% 6 0 0 0 0 0 0 0 0 0 0 0 0 1 7 7
80i% LLE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
EXES 93 2| 10 1 5 1 0 3 of 11 1 3 2| 10| 142] 120
[21&] 1 2 3 4 5 6 7 8 9 1011 ] 12] 13] 14
10mki# | 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
101 0.0%| 0.0%|50.0%| 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0%RLNA 0.0% 0.0% 0.0% 0.0%
205t [REERIM 0.0%| 0.0%| 0.0% 0.0% 0.0% 0.0%| 0.0% 0.0%KKELD 0.0% 0.0%| 0.0%
30t (TWEY 8.3%| 8.3% 0.0%| 8.3%| 0.0%| 0.0% 8.3%| 0.0%| 8.3%| 0.0% 0.0%| 8.3%|16.7%
401t T 0.0% 8.3% 0.0% 0.0% 0.0% 0.0% 4.2% 0.0% 4.2% 0.0% 4.2%| 4.2%]20.8%
50k%1t  [EVREA 3.6%| 7.1%| 0.0%| 7.1%| 0.0%| 0.0%| 0.0%] 0.0%| 7.1%| 3.6% 3.6%| 0.0%| 3.6%
60f%1t IO 0.0% 9.3% 2.3%| 4.7%| 2.3%| 0.0%| 2.3%| 0.0%| 9.3%| 0.0% 0.0%| 0.0%| 2.3%
70854 [EIMEY 0.0%| 0.0% 0.0% 0.0% 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%|14.3%
80rg L. E RO 0.0% 0.0%| 0.0% 0.0% 0.0% 0.0%[ 0.0% 0.0% 0.0% 0.0%f 0.0% 0.0% 0.0%
EXES A 1.7% 8.3%| 0.8%| 4.2% 0.8%| 0.0% 2.5%| 0.0%| 9.2%| 0.8% 2.5%| 1.7%| 8.3%
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[GAEHh = FHAE AR L5 #4E )
[E&%%]) [ 1 2 3 4 5 6 7 8 9 [ 10| 11 ] 12] 13| 14
10/ K i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20/ % 1 0 1 0 0 0 0 2 0 0 0 0 0 0 4 3
30 L 9 0 3 0 0 0 1 4 0 1 0 0 0 1 19 12
401 10 0 6 0 0 0 2 3 0 1 0 0 1 of 23] 16
507% 1% 18 2 2 0 0 1 0 5 0 1 0 1 2 of 32| 26
607% 1% 25 1 3 0 0 0 1 3 1 1 0 1 0 1| 371 33
705% 1% 8 0 0 0 1 0 0 0 0 0 0 0 0 0 9 9
80k LALE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EXES 71 3] 15 0 1 1 4 17 1 4 0 2 3 2| 124 99
[21&] 1 2 3 4 5 6 7 8 9 [ 10| 11 ] 12] 13| 14
10mk:# | 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
101 0.0%| 0.0%| 0.0%| 0.0%| 0.0%] 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
20/ % 0.0%/33.3%| 0.0%| 0.0%| 0.0% 0.0% 0.0%| 0.0%] 0.0% 0.0%| 0.0% 0.0%
30t 0.0%|25.0%| 0.0%| 0.0%| 0.0%| 8.3%|33.3%| 0.0%| 8.3%| 0.0%| 0.0%| 0.0%| 8.3%
401 0.0%|37.5%| 0.0%| 0.0%| 0.0%|12.5%|18.8%| 0.0%| 6.3%| 0.0%] 0.0%| 6.3% 0.0%
507% 1% 7.7% 7.7%| 0.0%| 0.0%| 3.8%| 0.0%[19.2%| 0.0%| 3.8%| 0.0%| 3.8%] 7.7%| 0.0%
605% 1t 3.0%| 9.1%| 0.0%| 0.0% 0.0% 3.0%] 9.1%| 3.04] 3.0%| 0.0%| 3.0%] 0.0% 3.0%
705% 1% LA 0.0%| 0.0%| 0.0%[11.1% 0.0%] 0.0% 0.0% 0.0% 0.0%f 0.0% 00% 0.0% 0.0%
80i% LLE 0.0% 0.0%] 0.0% 0.0% 0.0%] 0.0% 0.0% 0.0% 0.0% 0.0% 00% 0.0% 0.0%
21K 3.0%|15.2%| 0.0%| 1.0%| 1.0%| 4.0%[17.2%| 1.0%] 4.0% 0.0%| 2.0%| 3.0%] 2.0%
[FAZEH#hm10: GRiEHNEEMHREHR (B hERES)]
[E&%%]) [ 1 2 3 4 5 6 7 8 9 [ 10| 11 ] 12] 13| 14
10/% K i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
101 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20/ % 3 0 0 0 0 0 0 0 0 1 0 0 0 0 4 3
30t 7 1 1 0 3 0 0 1 4 1 0 0 0 of 18] 14
401 11 4 2 0 1 1 0 5 1 0 0 0 1 of 26/ 19
505% 1t 6 1 1 1 1 4 0 0 0 1 0 0 3 of 18] 16
607% 1% 5 0 3 0 3 0 0 1 0 0 0 0 0 of 12 9
705% 1% 3 1 1 1 1 1 0 1 0 0 0 0 3 of 12 11
80k LA L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EXES 35 7 8 2 9 6 0 8 5 3 0 0 7 of 90| 72
[21&] 1 2 3 4 5 6 7 8 9 [ 10| 11 ] 12] 13| 14
10K 0.0%| 0.0%] 0.0%| 0.0%| 0.0%] 0.0% 0.0% 00% 0.0%f 0.0% 00% 0.0% 0.0%
101 0.0%| 0.0%] 0.0%| 0.0%| 0.0%] 0.0% 0.0% 0.0% 0.0%f 0.0% 00% 0.0% 0.0%
20/ % 0.0% 0.0% 0.0%| 0.0%| 0.0% 0.0% 0.0% 0.0%[33.3% 0.0% 0.0%| 0.0%| 0.0%
30t 7.1%| 7.1%| 0.0%|21.4%| 0.0%| 0.0%| 7.1%[28.6%| 7.1%| 0.0%| 0.0%| 0.0%] 0.0%
401t 21.1%|10.5%| 0.0%| 5.3%| 5.3%| 0.0%26.3% 5.3%| 0.0%| 0.0%| 0.0%| 5.3%| 0.0%
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50m4%  JEIERA 0.0% 8.7%| 4.3%| 0.0%| 0.0%| 4.3%]21.7%| 0.0%[ 0.0%| 0.0%] 0.0%] 8.7% 4.3%
601t KA 0.0%[22.2%] 0.0%] 0.0%[16.7%| 0.0%|11.1%] 0.0%[ 0.0%| 0.0%] 0.0%] 0.0%| 0.0%
70% 4% 0 0.0%25.0% 0.0% 0.0%| 6.3% 0.0%12.5% 0.0% 0.0% 6.3%] 0.0% 0.0% 0.0%
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507% 1% 13.0%| 8.7%| 0.0%| 0.0%| 4.3%| 4.3%|17.4%| 4.3%| 0.0%] 0.0% 0.0%
607% 1% 0.0% 8.0%| 0.0%| 4.0%[16.0%| 0.0%]|12.0%| 8.0%| 8.0%| 0.0% 0.0%
705 4% 18.2% 9.1%|18.2%| 0.0%| 0.0%[18.2%| 0.0%| 0.0% 0.0%| 9.1%| 0.0% 0.0%
80mLLE | 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
EXES AN 10.5%]10.5%] 1.1%] 1.1%| 4.7%| 5.3%|14.7%] 9.5%| 4.7%| 0.5% 0.5%
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4051 |30.2%[12.7% WXL 11.1%| 7.9%| 3.2%|11.1%|31.7%|11.1%| 14.3%| 3.2%| 0.0%| 4.8%| 3.2%
50451t AN 13.7%[25.5%| 3.9%| 2.0%|11.8%| 9.8%|17.6%| 3.9%| 7.8%| 3.9% 0.0%| 2.0%| 0.0%
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705% 1% yEXY 12.5%(25.0%] 0.0%| 0.0%|25.0%[12.5%|12.5%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%| 0.0%
80i% LLE 0.0% 0.0% 0.0% 0.0%| 0.0% 0.0% 0.0% 0.0% 0.0%4 0.0% 0.0% 0.0% 0.0%
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[FAZHh 1 - F0FLdm]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
£ | b A | <Y | < | | €| & [B#s | <Y< | .
£l & |uwelxn | % &t SR I R S I &t
(A Ly L Ly (A Ly L Ly
Il g 8 20 7 0 0 35| 22.9%| 57.1%| 20.0% 0.0% 0.0% 100%
KR AT 10 28 18 0 0 56 17.9%| 50.0%| 32.1% 0.0% 0.0% 100%
EER 4 10 5 0 0 19 21.1%| 52.6%| 26.3%| 0.0%| 0.0% 100%
g i1)5 4 4 6 0 0 14 28.6% 28.6% 42.9%| 00% 00% 100%
ZRER 1 10 6 1 0 18 5.6% 55.6% 33.3%| 5.6% 0.0% 100%
HBER 1 2 0 0 14.3% 57.1%| 28.6%| 00% 0.0% 100%
=E8 0 2 0 0 0.0%| 66.7%| 33.3% 0.0% 0.0% 100%
HifE 2 1 0 0 33.3%| 50.0%| 16.7%| 0.0%| 0.0% 100%
B 1 4 1 0 11.1%| 33.3%| 44.4% 11.1% 0.0%] 100%
ZFDfth 2 12 3 1 0 18| 11.1%| 66.7%| 16.7%| 5.6%| 0.0% 100%
&t 33 98 54 3 o] 188] 17.6%| 52.1%| 28.7%| 1.6% 0.0%] 100%
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[fAEHhm 2 F0Fu<)—F+>T4]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | E |VE | kb | k2 T | E |VE | kb | k%
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % 8 SR I R S I &t
(A Ly | W Ly (A Ly | W Ly
Il g 1 19 48 0 0 68 1.5%| 27.9% 70.6%| 0.0%| 0.0% 100%
KR AT 3 28 45 0 0 76 3.9%| 36.8% 59.2%| 0.0%| 0.0% 100%
EER 0 4 5 1 0 10[ 0.0% 40.0% 50.0%| 10.0%| 0.0% 100%
g i1)5 2 3 9 0 0 14| 14.3% 21.4% 64.3%| 00% 0.0% 100%
ZRER 0 2 5 0 0 7| 0.0%| 28.6%| 71.4% 0.0% 0.0% 100%
HBER 1 0 6 0 0 7 14.3%| 00% 857% 0.0% 0.0% 100%
=E8 1 0 2 0 0 3| 33.3%| 00% 66.7% 0.0% 0.0% 100%
HifE 0 1 1 0 0 2 0.0% 500%| 500% 0.0% 0.0% 100%
B 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
ZFDfth 1 4 6 0 0 11| 9.1%| 36.4%| 545%| 0.0% 0.0% 100%
BEt 9 61 127 1 o] 198 4.5% 30.8% 64.1% 0.5% 0.0% 100%
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[FRZHh S 3 ¥ ]
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£l & |uwelxn | % &t SR I R S I &t
Ly Ly Ly Ly Ly Ly Ly Ly
LB 4 20 4 0 0 28| 14.3%| 71.4%| 14.3%] 0.0% 0.0% 100%
KR AT 5 42 16 0 0 63| 7.9%| 66.7% 25.4%| 0.0% 0.0% 100%
EER 5 12 1 0 0 18] 27.8%| 66.7%| 5.6% 0.0% 0.0%] 100%
g i1)5 2 9 3 0 0 14| 14.3%| 64.3% 21.4%| 00% 00% 100%
ZRER 2 7 3 0 0 12| 16.7%| 58.3%| 25.0%| 0.0%| 0.0% 100%
HBER 1 5 3 0 0 o 11.1%| 55.6%| 33.3% 0.0% 0.0% 100%
=E8 1 2 0 0 0 3| 33.3%| 66.7%| 0.0% 0.0% 0.0% 100%
HifE 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
B 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
ZFDfth 1 4 1 0 0 6| 16.7%| 66.7%| 16.7% 0.0% 0.0% 100%
&t 21 103 31 0 o] 155 13.5%| 66.5%| 20.0% 0.0% 0.0%] 100%
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[FAzthm4 - 5 U(ERIZEF, BOkk)]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | k | VE | kb | k2 T | X |VE | kb | k2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
B3 £3) e | <Y | < - % 3 ms | <Y | < -
t Elue | | B = | & [weln | # &t
L Ly S A Ly (A L | W Ly
LB 29 22 9 0 2 62| 46.8%| 355% 14.5%| 0.0% 3.2%] 100%
KR AT 15 18 10 3 1 47| 31.9%| 38.3%| 21.3% 6.4% 2.1%| 100%
EER 3 6 4 1 0 14| 21.4%| 42.9%| 28.6% 7.1% 0.0% 100%
g i1)5 5 0 1 0 0 6| 83.3%| 00% 16.7% 0.0% 0.0% 100%
ZRER 3 6 2 0 0 11| 27.3%| 54.5% 18.2%| 0.0%| 0.0% 100%
HBER 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
=E8 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
HifE 7 3 0 0 1 11| 63.6% 27.3% 0.0% 00% 9.1% 100%
B 5 3 0 0 0 8| 62.5%| 37.5%| 0.0% 0.0% 0.0% 100%
ZFDfth 11 8 2 1 0 22| 50.0%| 36.4%| 9.1% 4.5% 0.0% 100%
&t 79 67 28 5 4] 183 43.2%| 36.6% 15.3%| 2.7% 2.2%| 100%
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[GAEHh M5 IIK] X(B)R7E BIEME. (FOKREMt. (R)AEHL
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | E |VE | kb | k2 T | E |VE | kb | k%2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
= & |veln | O IS I R B I &t
(A Ly L Ly (A Ly L Ly
Il g 1 8 3 0 0 12| 8.3% 66.7% 25.0%| 00% 0.0% 100%
KR AT 7 12 25 0 0 44( 15.9%| 27.3%| 56.8%| 0.0% 0.0%] 100%
EER 2 9 1 0 0 12| 16.7% 75.0% 8.3%| 0.0%| 0.0% 100%
g i1)5 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
ZRER 3 5 1 0 0 9| 33.3%| 55.6% 11.1% 0.0% 0.0% 100%
HBER 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
=E8 0 1 1 1 0 3 0.0% 33.3% 33.3% 33.3% 0.0% 100%
HifE 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
B 1 1 0 0 0 2| 50.0%| 50.0%| 00% 0.0% 0.0% 100%
ZFDfth 0 1 1 0 0 2 0.0% 500%| 500% 0.0% 0.0% 100%
&t 15 37 32 1 0 85( 17.6%| 43.5%| 37.6%| 1.2%| 0.0%] 100%
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% 3 min | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % Bl = | £ |velxn | % &t
Ly Ly Ly Ly Ly Ly Ly Ly
Il g 15 24 6 0 0 45| 33.3%| 53.3%| 13.3% 0.0% 0.0% 100%
KR AT 18 7 3 0 0 28| 64.3%| 25.0%| 10.7% 0.0% 0.0% 100%
EER 0 0 0 0 0 of 0.0% 00% 00% 0.0% 0.0% 0%
g i1)5 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
ZRER 1 3 3 0 0 7| 14.3%| 42.9% 42.9% 0.0% 0.0% 100%
HBER 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
=E8 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
HifE 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
B 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
ZFDith 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
&t 35 34 12 0 0 81| 43.2%| 42.0% 14.8%| 00% 0.0% 100%
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O E I x BRIHEM
(REHR7 :H2FHALSE]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
[6) T A6 | =% | 1=K [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % 8 £l & |uwelxn | % &t
(A Ly S A Ly (A Ly S A Ly
Il g 9 29 4 0 0 42| 21.4% 69.0% 95% 00% 00% 100%
KR AT 13 41 5 0 0 59| 22.0%| 69.5%| 85% 0.0% 0.0% 100%
EER 3 3 0 0 0 6| 50.0% 50.0%| 00% 0.0% 0.0% 100%
g i1)5 2 0 0 0 0 2 100.0%| 0.0%| 00% 0.0% 0.0% 100%
ZRER 0 4 2 0 0 6| 0.0% 66.7% 33.3% 0.0% 0.0% 100%
HBER 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
=E8 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
HifE 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
B 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
ZFDith 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
&t 27 79 11 0 ol 117] 23.1%| 67.5% 9.4%| 0.0% 0.0%] 100%
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O E I x BRIHEM

[(AEHhm 8 HER]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | E |VE | kb | k2 T | E |VE | kb | k%
[6) T A6 | =% | 1=K [4) T 26 | f=F | =X
B3 £3) e | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % Bl = | £ |velxn | % &t
Ly Ly £ Ly Ly Ly Ly £ Ly Ly
LB 18 13 2 0 0 33| 54.5%| 39.4%| 6.1% 0.0% 0.0% 100%
KR AT 28 23 4 0 0 55| 50.9%| 41.8%| 7.3% 0.0% 0.0% 100%
EER 3 2 0 0 0 5 60.0%| 40.0%| 00% 0.0% 0.0% 100%
g i1)5 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
ZRER 8 4 0 0 0 12| 66.7% 33.3% 0.0% 00% 00% 100%
HBER 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
=E8 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
HifE 0 1 0 0 0 1| 0.0% 100.0%| 0.0% 00% 0.0% 100%
BEER 4 1 0 0 0 5( 80.0%| 20.0%| 00% 0.0% 0.0% 100%
ZFDfth 5 2 0 0 0 7 71.4%| 28.6%| 00% 0.0% 0.0% 100%
&t 68 46 6 0 o] 120] 56.7% 38.3%| 5.0% 0.0% 0.0% 100%
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O E I x BRIHEM

[FAEHh MmO FH AR 4t ]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | E |VE | kb | k2 T | E |VE | kb | k%
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
=l & |weln | # B = | & [weln | # &t
(A Ly L Ly (A Ly L Ly
IR 29 22 2 1 0 54| 53.7%| 40.7% 3.7%| 1.9%| 0.0%] 100%
KR AT 11 12 1 0 0 24| 45.8%| 50.0% 4.2%| 00% 0.0% 100%
EER 1 1 0 0 0 2| 50.0%| 50.0%| 00% 0.0% 0.0% 100%
g i1)5 0 3 0 0 0 3 0.0% 100.0%| 00% 0.0% 0.0% 100%
ZRER 2 4 0 0 0 6| 33.3%| 66.7%| 00% 0.0% 0.0% 100%
HBER 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
=E8 0 0 1 0 0 1| 0.0% 0.0% 100.0% 0.0% 0.0% 100%
HifE 1 2 1 0 0 4| 250% 50.0%| 25.0%| 00% 0.0% 100%
B 2 0 0 0 0 2 100.0%| 0.0%| 00% 0.0% 0.0% 100%
ZFDfth 0 3 0 0 0 3 0.0% 100.0%| 00% 0.0% 0.0% 100%
&t 46 47 5 1 0 99| 46.5%| 47.5%| 5.1% 1.0%| 0.0%] 100%
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O E I x BRIHEM
(AR 10 BRERHNEZEVHRREHR EHEHNES)]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
[6) T A6 | =% | 1=K [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % 8 SR I R S I &t
(A Ly | W Ly (A Ly S A Ly
Il g 5 13 3 0 0 21| 23.8%| 61.9%| 14.3% 00% 00% 100%
KR AT 1 15 7 5 1 20 3.4%| 51.7%| 24.1%| 17.2%| 3.4%| 100%
EER 0 2 5 0 0 7| o0.0% 28.6% 71.4% 0.0% 0.0% 100%
g i1)5 1 1 1 0 0 3| 33.3%| 33.3%| 33.3% 0.0% 0.0% 100%
ZRER 1 1 4 0 0 6| 16.7% 16.7% 66.7% 0.0% 0.0%| 100%
HBER 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
=E8 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
HifE 0 2 1 0 0 3 0.0% 66.7% 33.3% 0.0% 0.0% 100%
B 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
ZFDith 0 0 0 0 0 of o00% 00% 00% 00% 0.0% 0%
&t 8 34 21 5 1 69| 11.6% 49.3%| 30.4% 7.2%| 1.4%] 100%
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O E I x BRIHEM

(R 11: EREF]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
T | E |VE | kb | k2 T | E |VE | kb | k%
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
£l & |uwelxn | % Bl = | £ |velxn | % &t
(A Ly | W Ly (A Ly S A Ly
Il g 9 13 2 0 0 24/ 37.5%| 54.2% 8.3% 00% 00% 100%
KR AT 12 11 1 0 0 24 50.0%| 45.8% 4.2% 00% 0.0% 100%
EER 4 10 1 0 1 16 25.0% 62.5% 6.3%| 00% 6.3% 100%
g i1)5 1 5 3 0 0 o 11.1%| 55.6%| 33.3% 0.0% 0.0% 100%
ZRER 1 0 0 0 0 1l 100.0%| 0.0% 0.0% 00% 0.0% 100%
HBER 0 1 1 0 0 2 0.0% 50.0%| 500% 0.0% 0.0% 100%
=E8 2 0 0 0 0 2 100.0%| 0.0%| 00% 0.0% 0.0% 100%
HifE 2 3 1 1 1 8l 25.0%| 37.5%| 12.5%| 12.5%| 12.5%] 100%
B 2 2 3 0 1 8| 25.0% 25.0% 37.5% 0.0% 12.5% 100%
ZFDith 3 3 2 0 0 8| 37.5%| 37.5%| 25.0% 0.0% 0.0% 100%
&t 36 48 14 1 3] 102 35.3%| 47.1%| 13.7%| 1.0%] 2.9%| 100%
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O E i x BEEAER
(FAZEH 12420045 TEE]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey F3 WE [ x5 | k2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
= & |veln | z S I R A &t
(A Ly | W Ly (A Ly S A Ly
Il g 2 6 5 0 0 13| 15.4%| 46.2%| 38.5%| 0.0%| 0.0% 100%
KR AT 6 21 20 0 0 47| 12.8%| 44.7%| 42.6% 00% 00% 100%
EER 2 5 3 0 0 10[| 20.0%| 50.0%| 30.0%| 0.0%| 0.0% 100%
g i1)5 0 5 1 0 0 6| 0.0% 83.3% 16.7% 0.0% 0.0% 100%
ZRER 0 5 3 0 0 8| 0.0% 62.5% 37.5% 0.0% 0.0% 100%
HBER 0 1 2 0 0 3 0.0% 33.3% 66.7% 0.0% 0.0% 100%
=E8 0 3 2 2 0 7| 0.0% 42.9% 28.6% 28.6% 0.0% 100%
HifE 2 3 2 0 0 7 28.6%| 42.9%| 28.6% 0.0% 0.0% 100%
B 0 0 1 0 0 1| o0.0%| 0.0% 100.0%] o00% 0.0% 100%
ZFDith 1 6 4 0 0 11 9.1%| 54.5%| 36.4%| 0.0% 0.0% 100%
&t 13 55 43 2 o] 113] 11.5%| 48.7% 38.1%| 1.8% 0.0%] 100%
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[GAE# A 13: PRRUFv—I—)LK]
[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
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B 4 6 1 0 1 12| 33.3%| 50.0% 8.3%| 00% 8.3% 100%
ZFDith 2 5 2 1 0 10[| 20.0%| 50.0%| 20.0%| 10.0%| 0.0% 100%
&t 66 97 19 2 2] 186[ 35.5%| 52.2%| 10.2%| 1.1%| 1.1%] 100%
S [O] & BR<
(\EMEZER
BEUERLN BETHEEL OEbbét BHFYELGLY mEdEEREN
LNZ ALY

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

LR
N=32

KB AF
N=72
EER
N=20
RERRT
N=17
=RE
N=11
HER
N=4
—E8
N=1

| ' | | | |

% - 209




O E I x BRIHEM
(FAE#R15: RHFAE K]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
ea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
% 3 min | <Y | < - % 3 ms | <Y | < -
= & |veln | O IS I R B I &t
(A Ly L Ly (A Ly L Ly
Il g 18 27 13 0 0 58| 31.0%| 46.6%| 22.4% 0.0% 0.0% 100%
KR AT 16 9 7 0 0 32| 50.0%| 28.1%| 21.9%] 0.0% 0.0% 100%
EER 4 6 5 0 0 15| 26.7%| 40.0%| 33.3%| 0.0%| 0.0% 100%
g i1)5 1 2 0 0 0 3| 33.3%| 66.7%| 0.0% 0.0% 0.0% 100%
ZRER 1 4 1 0 0 6| 16.7%| 66.7%| 16.7% 0.0% 0.0% 100%
HBER 2 4 2 0 0 8| 25.0% 50.0%| 25.0% 0.0% 0.0% 100%
=E8 12 4 3 0 0 19| 63.2% 21.1%| 15.8%| 0.0%| 0.0% 100%
HifE 3 12 5 0 0 20| 15.0%| 60.0%| 250% 0.0% 0.0% 100%
B 13 23 13 1 0 50| 26.0%| 46.0%| 26.0% 2.0% 0.0% 100%
ZFDfth 6 14 5 0 0 25| 24.0%| 56.0%| 20.0% 0.0% 0.0% 100%
&t 76| 105 54 1 0| 236] 32.2%| 44.5% 22.9% 0.4% 0.0% 100%
XA 2 fR]
(\EMEZER
BEUOERN BETHEEL OEbbét BHFYERLGLY mEdEEREN
LNZ ALY
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

OSSN

I
| s 7

NZAN

A —
VN
"

775575

" 7
%%

L150:0%

557727

/50%

I

|
N

Wm.o% 7
0595578

0A%

5% -

210




O E I x BRIHEM
GREthR16: EEREXRHLFBEDE)]

[EZ3] [EI&]
1 2 3 4 5 1 2 3 4 5
iea P3 WwWE [ x5 | k2 ey P3 WE [ x5 | k2
[6) T A6 | f=F | =X [4) T 26 | f=F | =X
B3 £3) e | <Y | < - B3 £3) e | <Y | < -
£l & |uwelxn | % 8 SR I R S I &t
(A Ly S A Ly (A L | W Ly
IR 5 22 4 0 0 31| 16.1%| 71.0% 12.9%| 0.0% 0.0%] 100%
KR AT 8 44 8 0 1 61 13.1%| 72.1%| 13.1%| 0.0%| 1.6%] 100%
EER 3 11 4 0 0 18] 16.7%| 61.1%| 22.2%| 0.0% 0.0%] 100%
g i1)5 2 8 2 0 0 12| 16.7%| 66.7%| 16.7%| 0.0%| 0.0% 100%
ZRER 2 10 0 0 0 12| 16.7% 83.3% 0.0%| 00% 0.0% 100%
HBER 1 6 0 0 0 7 14.3%| 85.7%| 00% 0.0% 0.0% 100%
=E8 2 11 2 0 0 15| 13.3%| 73.3%| 13.3%| 0.0%| 0.0% 100%
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HBER 1 1 0 0 0 50.0%| 50.0% 0.0% 0.0% 0.0% 100%
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BEER 2 2 0 0 0 4| 50.0% 50.0% 0.0% 0.0% 0.0% 100%
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